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Note: Tph;
- 11s que
Cst
Part A g Compy| ontains two parts A and 13,
consists of SOy which carries 25 marks. Answer all questions in Part A, Part B

Mits
\nswer any one full question from each unit. Fach question carries

on Paper

2 Ve a b as sub questions.

_ ‘ PART - A
1.a)  EXplain how ¢ (25 Marks)

oes linke e 6
b) Define Searching <ed stack differ from a linear stack. (2]
How ma N
Cc 1OW many b “ .
) any binary trees are possible with four nodes ? [é‘\

d) Define tree traversa].
~ e)  Whatis pattern? . . / 3

4 0 Writethe pseudo.code for reversingndq o o | o
g) Discuss about linear pl‘&)}i; ?/elsmg the.List using Staeks, - ~ 13]
h) Write about splay trees. (3]
i) Wh-at 1s Graph? Define degree of vertex. (3]
j)  Write a short notes on standard tries ﬁ
] : 3

. What is priority Queue? Explain the ‘implementation”of Priority queue? Write an

algorithm for operations on Priority queues. (o
OR

3a2) Discuss about the stack with examples.

b) Write an algorithm to implement queue using stack. [5+3]
Y, WhatlSGOHISIOn '7EX plam dlffelentcolhs@n 1esolut1on techmques W\Jth e\amp\es Um
5. Describe the operations of skip list with an example.

y tree using in-order traversal and post order

6.  Write an algorithm for creation of binar o
traversal
AV Ltleeof the follé}z:\_{'i'n gdala S TN
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to represent graphs? Explain.
¢ At =

How OR (10
Explain Heap \Olt alum ithm. (lcaic Heap for the Follnwmg elements and th |

\p‘ ; €0 50rt
N;g“m;‘ 105. 1;(‘ m 105. 390, 432 28 444) (15}
( N (
Explain about Boyer-Moore algorithm in detail.

X ' oy 11
Discuss about Suffix tries. OR (5+5)
Write Knuth-Morris-Pratt pattern matching algorithm. [10]
---00000---
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2) What is ﬂ‘le WOTIST case time com
od? Give an ex e of
meth example of worsgy case time 1
ac > complexity?

LR and RL are called «
p) Why g o ’l‘c called complex rolations explain w.
¢) Create ap and Max-heap for the fol > CXplain with an example?
(20: 10: 5; 4: 25; 70: 60: 40) 8} lowmg list

d) Discuss about time complexity of all pairs g,
¢) Discuss about time complexity of merge ;()I‘t;)rteSt method?

d licati .
f) What are the apphications of pattern matching algorithm? (AM+AM+AM+AM+3M+3M)
! +AM+AM+3M+31

lexi ‘ g : -
Plexity of searching an element in case of chaining

PART-B

ollowing elements-are inserted into an .
Fuadratic probing. Explain. empty hash table with hash function f(x) = x% 17 and
58, 48, 79, 46, 54, 32, 24, 19, 18, 35, 15, 84, 16, 12 (16M)
L

a) Draw the hash table for each insertion.
b) What is the load factor after last insertion?

c) What is the maximum number of buckets examined in an unsuccessful search?
(SM+4M+4M)

2) Show the result of inserting 3,1,4,6,9,2,5,7 into an initially empty AVL tree?

b) Show the result after each insertion? Also show the result after deletion of the root?
- (SM+8M)

3 Explain about Binomial Amortized Analysis?
b) Explain about binomial queue? _ (8M+3M)

3) Write and explain Floyd’s algorithm?
b) Sort the following elements using quick sort —_—

2,10,5,30,40,57, 35, 25,18,22,21
(SM+3D
d field buffers?

1ofl
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: 3 hours -

Time ) :
i e 1, QuesuW Max. Marks: 70

2. Answer ALL the s tWo partg (Part-A and Part-B)

3. Answer any T"RF]«‘X”O" n Par{-A
~~~~~~~~~~~~~~~~ e ucq”()"‘; rr()
~~~~~~~~~~ m Part-B

~
~

j, a Whatare the methods used (o fepresent Pjgy;
: Clionary?
nary? (3M)

b) Explain the properties of 2-3 trees,
(3M)

¢) Create a min-heap and max-heap for the following J;
nelist(5:8:3:9:2: 10, 1.49)  (4M)

d) Write the Differences between Spanning tree d
an

minj .
e) Discuss about time complexity of heap sort 10IMuUm spanning tree. (4M)
). Give some applications of Digital search trees (4M)
, PART -B e
With an example, explain how insert; : .
" skip list. o and deletion operations performedin (w1,
lain modulo division and digj : .
b) Exp - and digit extraction hashing methods with an example. (8M)
3 4 Explain about deletion procedure in AVL tree with an example. (8M)
b) Create a 2-3 tree from the following list of data items: (8M)
5,6,8,21,12,30,34,27,23,4,33,7,24,9,10,11,13,38. )
4 3 Tllustrate the algorithm for deletion of an element from heap with an example. QM)
b) What is a priority queue? List and explain different ways of representing them. (M)
p q P Y P g
9 Howto find shortest path between two vertices using Dijkstra’s algorithm? (8N)
b Explain with an example, Krushkal’s algorithm for constructing a minimum cost  (8M)
Spanning tree. -
Bagites i , : (8M)
Dest case, Average case analysis of quick sort. o o 107 a0
sort using following elements. 45,317, 05, 09, 00, 11, 16,
' left? (M)
: . ; acters from right 0
matching algorithm scans the char o
; . \
) j cviable cxample - advantages and disadvantages.

Sate different file organizations and discuss thei

-
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. Code No: RT22053
ester Supplementary Examinations, November - 2018
I1 B. Tech II Sem p STRUCTURES

ADVANCED DATA
Ti (Com. to CSE, IT)
—=3 hours Max. Marks: 70
r consists of two parts (Part-A and Part-B)

Note: 1. Question Pape
1in Part-A

2. Answer ALL the questior
3. Answer any THREE Questions from ER¥IS
. PART -A
a)
N Define ADT of dictionary? o
c) Which binary tree we call it as “almost complete binary tree”? Bt o
What is Binary heap? o
d) C
0 . - i i
Y mpare double hashing techniques with linear and quadratic probing? .
Explain, how tries differ from hash tables? oM
(4M)

f Discuss various operation on files
PART -B

2. a) Why rehashing is needed? What are the types of rehashing techniques available? (T™)

" E’xpia%“ any one te_Ch.niquc with examples?
) Xp alr-l how data is inserted and deleted from dictionaries while it is implemented (7M)
using list data structure ?
Explain thrf;e possible cases for inserting a node in the 2-3 Trees? Construct (T™M)
2-3 Tree with the following data 50, 20,60,90, 40,100,10
b) Write Algorithm for 2-3 Tree deletion and discuss its analysis. (™M)
(i)Define Binomial queue, Binomial tree and Binomial heap? (™)
(ii)Explain the properties of Binomial trees? _
b) Show step by step process for constructing binary heap using the following data (™)
10,12, 1, 14,6,5,8,15,3,9,7, 4,11, 13 and 2.
Solve the following by apply kruskal’s algorithm to find minimum cost spanning  (7M)

tree for the follow1;1g graph.

rithm?  (TM)

£ . . Y
transitive closure for the following diagram using Warshall’s algo

W . MANARE o TS .CO. IN

; l"llli"ﬁl l l »
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SET - 1

Code No: RT22053

6. a) Perform Quick sort with the followir;)g elements: (T™)
400,200, 100, 750, 500, 150,300, 60 _

b) Give the algorithm for Radix sort and explain the process with an example? (IM)

7. a) Tlustrate Boyers Moore algorithm with the following text and pattern? (IM)

;‘rext:AABAACAADAABA ABAl
gPattem : AABA )
b) Discuss the following: (TM)
@) Digital search trees
(i)  Binary tries

T -
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(0 AWAHA U TECHN

OLOGICAL y ‘
B.Tech II Year | Selt}ester Examinatio::Vl\lf?;E S:\TY o O ABAD
DATASTRUCTUREg o 202

(Common tq CSE, 1T ITE)

. 3 hours
mes 3 |
Ti Answer any five questions Max. Marks: 75

All questions carry equal marks

- -

Discuss in brief about single linked list.

l;; write 2 C frogpt t O convert infix to postfix expression. [7+8]
,  Whatare differexit‘ éeth9d§ of collision resolution in hashing? Explain in brief. ~ [15]
.y Discuss in detail aboa redsblack )
13 Explain briefly about binary search trees. (748]
, Howagraphis traversed u [15]
i, Explain the process of heap sort [15]
| " .
{,  Explain in brief about tries with examp! e Ell
2|

Compare and contrast different sorting me

P ]

ﬂ i ip lists 1 structureé'.;
L Explain in detail about skip lists 10 data .

——.00000-—
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NIVERSITY HYDERABA)
September - 2021

Code No: 153AK - OGICALU
JAWAHARLAL NEHRU TECHNO! Ominations,
B.Tech 11 Year 1 Semester X2 RES

R RUCTURE

DATA ST g
(Common to CSE, IT, ITE) Max. Marks: 75
questions

Time: 3 hqurs
al marks

Answer any five
All questions carry equ

o

d Pop operations on & stack.

1.a Ry @an algorithm of Push an . [8+7]
b) @ jate between stack and queue.

) Inse list of elements into the hash table by using Quadratic probing (size

"~ ofHasht ) 65, 34,79, 114, 26, 85, 55, 89, 22, 98. [15]

3 Insert the follow@slemen‘w from the Red- Black tree. Delete the elements 18, 2
and 30 from the Ked- tree 12, 30, 36, 18,25, 9, 4,2, 17, 14, 20, 47. [15]

4. Sort the following list e ts by using Merge sort
30, 56, 78, 99, 12, 4, 85 ' [15]

S.a)  Write an algorithm of Standard
b) Explain the features that distirhass
conventional algorithms.

[7+8]
6.2)  Write an algorithm for insertion of nod : l
- ea t pos 3 - . .
b)  Evaluate the following postfix expression usingp n Linear Linked List.
53+62/%35%4 OW each step

een Boyer Moore algorithm from the

| [ g
/. Write an algorithm of skip list operations insertion antRgdele Q 5]
0 [l -
8. 1 i r 5
Explain the operations of Splay tree with an examp]
e )
. [1 ]

==-000¢g-..
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